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Réponses

1.     100     

2.    8 877    

3.    625,1    

4.    1 000    

5.   8 268,57  

6.    76 490   

7.    1 000    

8.    1 000    

9.   812 800   

10.      10     

11.   914 260   

12.   321 380   

13.   66 819,5  

14.     7,1     

15.    961,22   

16.    259,92   

17.    67 020   

18.    472,53   

19.    72,71    

20.    473,53   

Utilisez des règles de multiplication et de division décimales pour remplir le blanc.

1) 754,274×    100      = 75 427,4

2)    8 877    ÷10 = 887,7

3) 62 510÷100 =    625,1    

4) 90,7×   1 000     = 90 700

5) 826,857×10 =   8 268,57  

6) 764,9×100 =    76 490   

7) 695 690÷   1 000     = 695,69

8) 970 854÷   1 000     = 970,854

9) 812,8×1 000 =   812 800   

10) 107,717×     10      = 1 077,17

11)   914 260   ÷1 000 = 914,26

12) 321,38×1 000 =   321 380   

13)   66 819,5  ÷100 = 668,195

14)     7,1     ×100 = 710

15)    961,22   ×100 = 96 122

16)    259,92   ×1 000 = 259 920

17)    67 020   ÷100 = 670,2

18) 472 530÷1 000 =    472,53   

19) 72 710÷1 000 =    72,71    

20)    473,53   ×10 = 4 735,3
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